
Javed says that his eyes will blink 415 000 000 times in 79 years.

(a) Write 415 000 000 in standard form.

Answer (a) ...................................................... [1]

(b) One year is approximately 526 000 minutes.
Calculate, correct to the nearest whole number, the average number of times his eyes will blink
per minute.

Answer (b) ...................................................... [1]
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The population of Europe is 580 000 000 people.

The land area of Europe is 5 900 000 square kilometres.

(a) Write 580 000 000 in standard form.

Answer (a).......................................... [1]

(b) Calculate the number of people per square kilometre, to the nearest whole number.

Answer (b) ......................................... [2]
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